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2015.1.01 14,001,346
.08 208 JHe! 20,000
.08 Qﬁx_op%? cH 130,350
.08 %02t JHe! 20,000
12 3&')@;@@ cH 300,000
12 010Y el 300,000
14 209 el 30,000
19 20 el 20,000
{20 20y JHe! 20,000
{21 2Ol JHe! 50,000
.26 o Oe el 100,000
.26 @ §g§a| ) =p 100,000
.26 20# el 10,000
.26 0103 el 10,000
.26 502 JHel 10,000
.26 204 el 300,000
1.30 203 el 20,000
.30 QORI el 50,000

HSHE3d 2339 EF =4D\; W 9 =H
2.02 200 JHel 100,000
2.05 221 el 20,000
2.10 010 el 300,000
2.20 20 el 180,000
2.23 2Ol el 50,000




2.23 . 20y el 20,000
2.25 : el el 100,000
2.25 : soe el 10,000
2.25 ' 2oz el 10,000
2.25 ' S| e 2,000,000
2.26 ' ooy | e 100,000
2.26 ' 0103 el 10,000
2.27 ' OO el 50,000
2.27 ' 208 el 10,000
=P 18,451,696
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2015.2.03| =&=XZ-Atot#t 20=0t=s 50,000 50,000& x 1JHE= 50,000&
2.03| =EESAS-F&&F 0L0s 50,000 50,000& x 1JHE= 50,000&
2.03 sd=Ae-57 NO2U0tS 300,000 300,000& x 1JH=E= 300,000&
2.03 sd=XNs-57 0106 0ts 30,000 30,000& x 1JHE= 30,000&
2.03 sd=Xs-57 0106 0ts 20,000 20,000& x 1JHE= 20,000&
2.03 sd=XNs-57 0106 0ts 20,000 20,000& x 1JHE= 20,000&
2.03 sd=Xs-57 0106 0ts 300,000 300,000& x 1JH=E= 300,000&
2.03] =EsA2-29H=7 HOHOS 100,000 100,000& x 1JH&= 100,000&
2.03] =ESANs=-Atat7t EOEH0OIS 60,000 60,000& x 1JHE= 60,000&
2.03] =&SX=-Atot7 HOF0tS 150,000 150,000& x 1JH&= 150,000&
2.03] wWSHIXEA-2&TF HAO0I0tS 200,000 200,000& x 1JH=&= 200,000&
2.03| w=HIXE-H=2Uh+ 200t 200,000 200,000& x 1JH=&= 200,000
2.03] WSHIXE-A7 §EOS0IS 200,000 200,000& x 1JH=&= 200,000
2.03 wWEHIXNE-57 01020tS 200,000 200,000& x 1JH&= 200,000&
2.03] uW=sHXE-=sE7 ZO00tS 200,000 200,000& x 1JH&= 200,000&
2.09( HEHEZTZ I 13| Ctt2&H| 19,990 19,990& x 13l= 19,990&
27| NHEHEZZ ] MBTI SAHA 2L 61,300 61,300& x 13|= 61,300&
2.17( XEUEZZIE 13/J] A A 104,150 104,150& x 13|= 104, 150&
2.7 NHEHEZZTIH 130 217 8,000 8,000& x 13|= 8,000&
2.17( NEUEZZ ) S8 M 19,250 19,250% x 13|= 19,250&
2.27] dLHSXNE-AMF HOH0tS 30,000 30,000& x 13|= 30,000&
2.27] dLHSXNE-24E T2 ZO0tS 30,000 30,000& x 13|= 30,000&
3.02( =&SXNs=-Atott HOR0tS 2,000,000 |2,000,000& x 1JH&= 2,000,000&
3.02| =&ESAXS-Atot= 20=0ts 50,000 50,000& x 1Ji&= 50,000&
3.02| =EESANS-F&&F g080ts 50,000 50,000& x 1Ji&= 50,000&
3.02 SESNs-=2+ NO2U0t=s 300,000 300,000& x 1JH3= 300,000&




3.02| =ESXS-2H=7 HOHOS 100,000 100,000& x 1JH&= 100,000&

3.02| =ESXS-Atad7 §OS0tsS 60,000 60,0002 x 1JHE= 60,000&
311 ALH=SXE-M=7 010&0tS 30,000 30,0002 x 13|= 30,000&
3.24| HLHSXE-Atot? 01O20ts 30,000 30,0002 x 13|= 30,000&
3.24| MLPHSXNE-SchH+ ZOEH0OS 30,000 30,0002 x 13|= 30,000&
3.30] dLH=SXNE-Z7 ZOH0S 30,000 30,0002 x 13|= 30,000&
3.30] AHHEZZH 25|0] Al A 53,000 53,000& x 1=2|= 53,000&
3.30 IPE%EEEJ%FQN ag 2 100,000 100,000& x 13l= 100,000&
4.02( HLHASXE-HH7 HOLO0LS 30,000 30,0002 x 13|= 30,000&
4.02( HLHASXE-HH7 HOLO0S 30,000 30,0002 x 13|= 30,000&
4.16| dLHSXNE-H2U -+ HOHOIS 30,000 30,0002 x 13|= 30,000&
4.29 AgUETI I SEESH| 80,000 80,0002 x 13|= 80,000&
4.29 =ESXS-Atat7 §OSO0IS 60,000 60,0002 x 1JH&= 60,000&
5.06| MEHSXNE-E=+7 0lO&0S 28,580 28,580& x 13|= 28,580&
5.06| MELHSXNE-sEF 2030t 30,000 30,0002 x 13|= 30,000&

5.15 = 170,000 170,000& x 13l= 170,000&
5.21] =ESXS-Atadz §OS0tsS 60,000 60,0002 x 1JH&= 60,000&
5.27| 4EEHSXN-24&2 2O 0tS 30,500 30,5002 x 13|= 30,500&
5.28| MPLHSNNE-sEF HFOBOS 29,000 29,0002 x 13|= 29,000&
5.28] MEHSXNE-=7 HOLC0S 27,600 27,6002 x 13|= 27,600&
6.02( HWLHSXAA-F7 &020ts 30,000 30,000& x 13|= 30,000&
6.02( dLH=XE-F7 HO20S 27,000 27,000& x 1&|= 27,000&
6.17 A'EIJ‘(IEHIII%—;H—‘E—EH? HOH0r 80,000 80,000& x 1&|= 80,000&
6.17] =dsXe-Atat §EOS0s 60,000 60,000& x 1Ji&= 60,000&
6.29 &cIXZHIXEA-=7 ZOX0tS 50,000 50,000& x 1&|= 50,000&
6.29] AEHUEZ=ZTIEH 330| AlAHYI 54,200 54,2003 x 13|= 54,200&
6.29 dLH=NE-s8F ZOLOS 37,020 37,020& x 1&|= 37,020&
6.29 HLH=SXE-AMot7 010O=0tS 29,320 29,3203 x 13|= 29,320&
7.08] dLH=XE-H7 2OR0IS 31,200 31,2003 x 1&|= 31,200&




7.08] dEHSXNE-E=7 HOEOS 30,000 30,0002 x 13|= 30,000&
7.08] dLH=SXE-Atot7 2O 0tS 30,000 30,0002 x 13|= 30,000&
7.08] dLHA=SXNE-ScHF HO3S/0ts 30,000 30,0002 x 13|= 30,000&
7.16] AHdLHSXNE-E7 TOXIO0t 34,900 34,9002 x 13|= 34,900&
7.22] HLHSXNE-AtT £20CH0tS 26,900 26,9002 x 13|= 26,900&
7.22] HMLHASXNE-AF 20&0tS 26,900 26,9002 x 13|= 26,900&
7.221 =ESXS-Atat7 §EOEO0t 60,000 60,0002 x 1JH&= 60,000&
7.22] HLHASXNE-ZAF HOB0S 29,950 29,950& x 13|= 29,950&
81| AU EZZ M 450 Ctt 24l 31,820 31,8202 x 13|= 31,820&
8.25| NEUEIZZEH 5357 SAHI 49,500 49,5004 x 13|= 49,500&
8.25 AEHUEZZ T 537 AAlH| 54,000 54,0002 x 13|= 54,000&
8.25 AgUETI I SEESH| 140,000 140,000& x 13|= 140,000&
8.25| HMYPH=SXE-Atot? 2020ts 30,340 30,3402 x 13|= 30,340&
8.25| MYPH=SXE-ZAF 0lO=0t= 30,000 30,0002 x 13|= 30,000&
8.25| L= E-cH2H+ =O0I0tS 30,000 30,0002 x 13|= 30,000&
8.31] =FESXS-Atat= EOEO0t 60,000 60,0002 x 1JH&= 60,000&
9.08| MPLH=SXN-ol2H- SOFO0t 30,000 30,000& x 13|= 30,000&
9.11 LOREIIE BEHSXE 595,000 595,000& x 1&]= 595,000&
9.17| HLHSXE-AMot7 OS0ts 31,900 31,9002 x 13|= 31,900&
9.25| MYPH=SXE-Atot HOSI0tS 30,100 30,100& x 13|= 30, 100&
9.25| =ESXS-Atai7 H§OSO0IS 60,000 60,0002 x 1JH&= 60,000&
9.25| dLH=XE-E7 R0E0s 28,000 28,000& x 13|= 28,000&
10.14 SExI S8R OEH%EH? HOH0r 80,000 80,000& x 1&|= 80,000&
10.21] =dsksS-Mag7 EOSH0tS 60,000 60,000& x 1Ji&= 60,000&
10.21] dLH=SXNE-SH+ 010 0t=s 30,000 30,000& x 1&|= 30,000&
11.04| HLHSXNE-H2UHF 2OB0tS 30,000 30,000& x 1&|= 30,000&
11.04] dLH=SXNE-Atet72 20&0tS 29,070 29,070& x 1&|= 29,070&
11.04| AEHMNEZZ2 I 63|10 Ctt 4] 14,770 14,7708 x 13l= 14,770&
11.04] XNEUEZZ O 63]J] A A 80,770 80,770& x 1&|= 80,770&




11.12] HMLHASXNE-g+ 2038 0tsS 29,720 29,720& 138l= 29,720&
11.12] HMLH=SXNE-=+ NOLUOHS 30,000 30,000& 12]= 30,000&
11.20] HMLH=SXNE-g+ SO0F0tS 29,520 29,520& 138l= 29,520&
11.20| 4LHSANJA-F48 A 20820tS 29,500 29,500 12l= 29,500&
11.30] d2HEXNE-=8+ FOB0t=S 30,000 30,000 12]= 30,000&
11.30] MLHSXNF-HHF &0OS0t= 30,200 30,200& 12l= 30,200&
12.09] HMLH=SKE-=+ SOLOS 30,000 30,000 12]= 30,000&
12. 11 o |i|EH|I|CJ_2%EH? SO0 80,000 80,000 12]= 80,000&
12.11] d2HdEXNE-=8+ 01080t= 30,200 30,200& 12l= 30,200&
12.16 IPE%E_E_E_—E—FI 1'7 ozl 10,000 10,000& 12]= 10,000&
12.16] XNEHUEZZ Y 93|17 =8| 230,000 230,000 12/= 230,000&
12.22| RIIJHEXE-H2U 7 &O0ts 500,000 500,000 12/= 500,000&
12.22] RAINEXNE-S=+ OIS 400,000 400,000& 12/= 400,000&
12.22] RAINEXNE-=8+ z0O20t= 500,000 500,000 12/= 500,000&
12.22| SIJIMEXE-Atot= 2FOMOtS ,000,000 ,000,000& 12/= 1,000,000&
12.22] HUYLHSANE-zE3F 203 0t=s 29,000 29,000 12]= 29,000&
12.221 SIJIDMEXNE-200] S20ts 400,000 400,000 12/= 400,000&
12.24| 4LHSXE-H2UF 2080ts 29,580 29,580& 12]= 29,5803
12.24 ANEHUEZZH HEESY| 160,000 160,000& 12/= 160,000&
12.24 A lE_E_EE H|7 osl)| 9,000 9,000& 12]= 9,000&
12.24] XNEUEZZ Y 73|10 AAlH| 79,000 79,000 12]= 79,000&
12.24] NEHEZ=Z ) 83/J] S4ldl 39,400 39,400 138l= 39,400&
12.24| NMSEHNEZZE 830] Lt dl 20,250 20,250 138l= 20,250&
12.24] HLH=SXE-Atot=+ 0lOXMOtS 29,000 29,000 138l= 29,000&
12.24] NEUEZZ]EY TILS| AlAHH] 132,500 132,500& 138l= 132,500&
12.24] NEHEZZ ) 93/)] EAHX 49,100 49,100& 138l= 49,100&
12.29] <IIHEXE-SH+ 010F0t=s 400,000 400,000& 13l= 400,000&
12.29] </IIHEXE-i2U+ O0t=s 400,000 400,000 13l= 400,000&
12.29] <IIHEXE-g7 ZO0t0ts 400,000 400,000 13l= 400,000&




12.29) SIIIDIEXR-AMT HOSO0IE | 200,000 | 200,000 x 13l= 200,0002!
12.29 SIOIIIHNV-AAT HOEOIS | 200,000 | 200,000 x 13l= 200,0002!
2.0g| SENFHITATE SO= 1 683,000 | 1,683,008 x 181- 1,683,000
12,09 @ EIMEHIAEHEMT ZODIOH 205 099 | 200,008 x 131= 200, 0002
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15,403,000
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